PART-II

Questions: 91 to 180

Q.91 The acceleration versus time
graph of an object is as shown in figure.
The corresponding velocity - time graph

ofthe objectis {/\
a

Ll

t
(ﬂ[// ,
-
A [/
Vv Vv
(3) . (4 =

: >

Q.92 The graph below describe the
motion of a ball rebounding from a
horizontal surface being released
from a point above the surface.

A

y

time
The quantity represented in the y-
axis is the ball's
(1) displacement
(2) velocity
(3) acceleration
(4) momentum

SCHOLASTIC APTITUDE TEST
N A WIS

"

7,91 el avg & O - WY B g
fort 3 foraman T R | TG @ A T W

MG BT |
al/\

t
m"h W’C/_
i
v_ ;(4)\1

! !
7.92 R W v i & 5 Ak

(3)

Wi W U8 g ¥ fivm @
¥ § 9ty 3 & 1 & g9
B W% B y-31e W wefdfa ufd e
1&
y
el

(1) fR=emme
(2) @
(3) WU
(4) =

w

32

Scanned by CamScanner



Q.93 A block Is placed on a rough
horizontal surface. A time
dependent horizontal force Fmkt
acts on the block, where k js
positive constant, Acceleration -
time graph of the block s

A 4
;ub / a /
1. T 2, —
F 1
nl/ a /
3. { > 4 »

Q.94 White light is incident on the
interface of glass and air as shown
In the figure. If green light is just
totally internally reflected then the
emerging ray in air containe

air

——>—oreen
- dass
white light

(1)  yellow, orange, red

(2)  violet, indigo, blue

(3)  Allcolours except green
(4)  Allcolours

g,gawmmwﬂm“"*'

w7 fke o3 ara Afew 3
Fakt 7 ¥ (off k & TN
i #) avg @1 @ - WAA B
T Em |
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T e
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(1) il 5o, g
(2) 0, wIEEL S
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Q.95 A concave mirror I8 place Roreaat 318 HIX
is directed el % 81 TP g

horizontal table with its ax e C
vertically upwards. Let 0 be pole of th: oc . s
mirror and C its centre of curvature. | zﬂﬂ_ ferd ﬁmﬂﬂg' uﬁmﬁﬁ:ﬂ
point object Is placed at C. It has area ofada M C W gd1 adu
image, also located at C. If the mirror IS qrét A R forgy wITQ TE .
now filled with water, the image will be " S T G 0% w2
int
(1) real and located at a poin EISIEEd T
between Cand O. e fag .
2T e C IR & g
(2) realandwillremainatC. (2) aafa® "
i qrefdd. dgar C 9 3A4d
(3) real and located ‘at point (3) Al
we BT

between C andee (infinity)
(4) STl 21T 21 C 9 O B WA

(4) virtual and located at a point
fre) =g TR BT

between Cand O.
7.96 aQ,Saﬂ?Rﬂﬂma‘mﬂimé’l

Q.96 Four pendulums P, Q, R & S are
suspended from same elastic | yarey MR q, REgER AePr MU |

support as shown in figure. Out of _
these P and R are of the same PR3 sl v 99 21 Q, P B

length. Qs smallerthanPand Sis | g1 S @ amarE sfrean g1 R P @

longest. If the pendulum bob P is frenfa ~
displaced to give small vibration. PN BITT I PRI G, T«

% .

®

(1) ;r;};:ji:‘tild;ofvibrationforSis (1) Sromi & o™ S @ fog
T B |
(2) amplitude of vibration for R i [
gler o Is (2) Sromi @ g™ R @ fov
(3) amplitude of vibration for Q is : il
maximum 3) Qe @1 smam Q @ forv
(4) amplitude of vibration for all is &
same (4) [l @ amag @ @ fort
TR |

mw
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Q.97 The elongation of wire of length L
is ¢, in the case of figure (i). The

same wire elongation in case of
figure (ii) will be (Pulley is light)

fig (i)
(1) 4¢
(2) 2¢
(3) ¢
(4) 42
Q.98 Suppose universal gravitational
constant starts to decrease, then

1. length of the year will increase

2. earth will follow a spiral path of
decreasing radius

3. kinetic energy will remain
contant
4,  all of the above
Q.99 If a lens of focal length 'f is cut in
two equal parts shown as

f
<>
are put in contact as shown in
figure (i) and (ii)

WARAY

fig (ii)

fig (i) fig (ii)
the resulting focal length of fig (i)
and (ii) will be
(1) f2,0
(2) 0,f2

(3) ff
(4) /2, e (infinity)

7.97 L @ U@ AR 1 o i e
(%) 3 ar @ forg R - i A Rema
21 -

R (i) fera (i)
(1) 4¢
(2) 2¢
3) ¢
(4) €2

598 IR wEBET TEaEdu R

HEH 6 IR § a4

1. 9 &) TS 98 Wre
2. gl yedhl g8 Bow @ ged

el A gA ol
3. st I Rer e
4. IR T
.99 2 f&f F vrew < @ W 3 @
TR AT | REraR ae
<>

o Ry R (i) 3 (i) B s
TR R 2, 7@ R (i) 7 (ji)
aRemft wiew <& aft

Y\

fert (i)
2,0
0, f/2
ff
f12, ee (37FaT)

R (i)
(1)
(2)
©)
(4)
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Q.100 A uniform wire when connected

directly across a 220V line
produces heat H per second. If
the wire is divided into n-parts
and all parts are connected in
parallel across a 220V line, the
heat produced per second willbe

(1) H/n
(2) HI
(3) n'H
(4) nH

Q.101 In the question below, a statement

of assertion (A) is followed by
corresponding statement of
reason (R). Of the following
alternatives, choose the correct
one.

(A) To keep valuable instruments
away from earth's magnetic field,
they are enclosed iniron boxes.

(R) Iron boxes repel the earth
magnetic field lines.

(1) Ifbothassertionand reasonare
true & reason is the correct
explanation of assertion.

(2) Ifboth assertion and reason are
true but reason is not the
correct explanation of

7100 T & @EAIEA B AR H

fnaiar @ FE ¥ Wred W Hufy
Jevs A R | 9 Va1 B R
R ar A W R =W Ry
ST qon Wi @ SRR @
Sa @ 9y WY B9 A e
ST aa ufY A@vs B T W Iu
a1 2t -

(1) Hn
(2) HIn’
(3) n'H
(4) nH

7.101 S Ru yw= § & FUA (A) T

Sua @ (R) Rm mn &1 Ry
fapaai # A Sie R vifeul

T (A) GUTE STST D gl B
qReg &7 ¥ @ @ fog, 9%
AR P 9 H 9 HRp TG I B |
@ (R) R @ 994 g2l 3 g=Od
T Y@e @) ufrpfid PRSI & |

(1) R FoM 7 a9 A T 8, T

TP HAFT D Hal ARAT Pl
gl

(2) Al HUF g T i T 8 T

T P A S e T
HYT |

assertion.
(3) Assertionistrue, reason is false @) FTAEY L, TP A TE 8
(4) Assertionisfalse, reasonistrue (4) HUT AL TD IS & |

ﬁﬁ
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| Q.102 A sphere, a cube and a thin | 5.102 & & uIg B WAA FAAH B TP
g circular plate of same material M, ' g9 9 & gl e 3
' and mass, are heated to .
temerature of 200°C and allowe: 200°C 7% T B 37 € 3 fore
to cool- e fear w1, 99
(1) Sphere will cool at fastest rate (1) Tt & S BN @ ) 3Mferpan
gl
(2) Cube willcool at moderate rate (2) 591 @ SS BH P W LY
| gl
' (3) Plate will cool at slowest rate (3) @ B IS B D X gAaH
gt
(4) Rate of cooling will be same i F =
allthree. " “) m$ﬁmﬁaw St
Q.103 The ;:;H value of 100 litre aqueous | %.103 100 sfiex wieftw Raa Ford 4 7™
lut taini .
iss? on containing 4 gram NaOH NaOH YTl 8, %1 pH w14 81 m:
| (1) 3 (1) 3
| (2) 9 (2) 9 ,
@) " (3) 11
(4) 14 (4) 14
Q.104 One mole of magnesium nitride | ¥.104 U% WA FHW TREEe oo @
on reaction with excess of water o W ¥ A B v 3
gives 2
(1) One mole of ammonia (1) 3 1 7 A
(2) Two moles ofammonia (2) W& g A
(3) One mole of nitric acid (3) TEes 3 #1 v A
(4) Two moles of nitric acid (4) -Efes ove @ S A

\%
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=1 fram a1
Q.105 Match the following: g.105 Pr=fafea

CIGLS |
Column- ColumnAl il e
(A) Strongest i.Thalium (A) T faaaa i afeam
reducing q 9§
agentin TETIE
aqueous
solution | e
(B) Showsinert ii. Caesium (B) &fHa ATl N i ETaTs
pair effect gare feamar 2
(C) Forms iii. Lithium (C) FFTT B . frms
peroxide on T T B
heating Wi W WHIAES
excess of 5
0 -
(D) Usedin iv. Sodium (D)m_ﬁga ) w.aTeas
Photo cells 3= & wam &
A Ei 2

(1) AV, Bl C4, DHll (1) AV, BI, C4, D4l

(2) AN, B, CAV, DA (2) AN, B, CAV, DHI
(3) AL, B-ll, CA, DIV (3) Adll, B, CH4, DIV
(4) A-ll, B-IV, C, DI (4) Adl, BV, C4, Dl

Q.106 The oxidation states of sulphure
in SO,*, 5,0.” and S,0,” follows
the order:

%.106 SO,”, S,0,” 9 S,0.” ¥ HcB¥ &
I999 I3 (0S) B IAER B

w# 9 B

(1) 8,0,"< 80,"< 5,0, (1) 8,0/ <80, < s,0,”

(2) SO," <8,0< 8,07 (2) SO," <8,07< 8,0,

(3) 8,0.°<S,0,°< S0, (3) 8,0,<8,0,°< SO,

(4) 8,0°<8,0'< 50/ (4) 8.07< 5,07< 50

Scanned by CamScanner



Q.107 About BF, , PF, and CIF, the
correct statement|s:

(1) Allhave similar shape,

(2) BF, and PF, have similar
shapes but not CF,

(3) Allhave different shapes

(4) PF, and CUF, have similar
shapes but not BF,

Q.108 Which of the following iIs

represented by general formula
CH,,..0?

(1) Alchols only
(2) Bothalcohols and ethers
(3) Aldehydes only

(4) BothAldehydes and Ketones

Q.109 About (A) CIOH, (B) KOH, (C)
Be(OH), the correct statement is:

(1) Allare bases

(2) (B) and (C) are bases, (A) is
acidic

(3) (A)is acidic, (B) is basic, (C) is
amphoteric

(4) (B) and (C) are basic, (A) is
amphoteric

Q.110 Which of the following is
endothermic reaction?

(1) C(s)+0,(g)—>CO,(g)
(2) N.(g)+0,(g)—>2NO(g)
(3) 2H,(g)+0,(g)—>2H,0(f)

(4) 2CH,0H () +30, (g) —
2CO, (g)+4H,0 ()

%.107 BF,, PF, 74 CIF, § wafm &l

A ¥

(1) mﬂiﬂwmgl

(2) BF,d PF, @ & 3 & o
CUF, @) 81 |

(3) B AT (3rer)
g

(4) PF,a CIF, B §HH (I & TR
BF,®! 7781 |

¥.108 W afdas §A  C.H,,..0
r=farfra 4 e vt 87

(1) DI JTDIEA
(2) IAPES q AR QI
(3) ®ad aifeseze

(4) sfeserge 9 fpem =i
W.109 (A) CIOH, (B) KOH, (C) Be(OH), W
R 98 HUE §:

(1) T aR |
(2) (B)3R (C)&aTR &, (A) 3l &

(3) (A)3r<iig 2, (B) &R & @2r (C)
IHIeRF B |

(4) (B) 3R (C) &M ¥ (A)
A pTeRe &

0110 T | P 9 v vemeid) 27
(1) C(s)+0,(g)—»CO, (g)
(2) N,()+0,(g)—s2NO(g)
(3)  2H,(g)+ 0, (g)—»2H,0 (1

(4) 2CH,OH (1) +30, (g) —
2C0O, (g) +4H,0 (1)

I
__—
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Q.111 About (A) H,0,, (B) BaO,, (C) CO;
the correct statement is:\

(1) Both (A) and (B) are peroxides
butnot (C).

(2) Allare peroxides

(3) (A)is peroxide but not (B) and
(C)

(4) (A) and (C) are peroxides but
not (B).

Q.112 In which of the following AgCl is
maximum soluble?

(1) water
(2) 0.1M HCt
(3) Ammonia

(4) 0.2M AgNO,

Q.113 When 2 moles of N, gas and 9
moles of H, gas are mixed and
reaction is completed to from NH,

gas then reaction mixture will
contain:

(1) 11 moles of NH,
(2) 4molesof NH, +3moles ofH,
(3) 6molesofNH,+3molesofH,

(4) 2molesof NH,+1moleofN,

7111 (A) H,0, (B) BaO, (C) CO, &
Frfara WE T &

(1) (A)@ (B) waifFEEE & | (C)
|

(2) T TRelTEEES & |

(3) (A) WafEETES & W (B) T (C)
e |

(4) (A) T (C) TRHTIES & T (B)
el |

7112 fared AgCLafis gereiel &7
(1) 9t
(2) 0.1M HCt
(3) s
(4) 0.2M AgNO,
%.113 o@ 29 N, T 9 A H, i1 e

FX NH, T 3 i v Y, 7=
afaw fasror # Fr=fefea 2

(1) 11¥1d NH,

(2) 4HIE NH, + 39Ta H,
(3) 6 NH, + 3 Hrd H,
(4) 29I NH, + 191N,

—_—— e

_—
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Q.114 Find out correct statement given
below

(a) Length of alimentary canal is
directly proportional to food
habit.

Enzymes for digestion of
carbohydrates are not secreted
in gastric juice.

In an organism different

engymes have different pH
optima.

(b)

(c)

(d) Absorption of nutrient occurs in
all parts of alimentary canal.

(1) ab
(2)
(3)
(4)

Q.115 Formation of oxy haemoglobin
insideRBCsis a

a,cd
a,d

a,b,cd

(a) Physical process
(b) Chemical process
(c) Enzyme catalyzed reaction

(d) Partial pressure influenced
process

Find out the correct answer
(1)
(2)
(3)
(4)

a, b, c,
ab
a,d
c,d

v.114 A= 4 @ wé wy gfA?

— A
@ aredl @ AT g
2

gev 7 & preEEse $ TEH
& forg qrogd T8l B B |
et wroht & A= Trorgd @
afreaqw frn e @ fore
AT~ pHETR & |

e ol @ i 9§ OeE
verell 1 argeieer e 2 |

ab

(a)

(b)

(c)

(d)

(1)
(2)
(3)
(4)
U115 o SR Fomei § smed

femrefas 7= v

(a) WMo witean 8

(b) XS ufean &

(c) T~ITgA &1 Herdgadl ¥ B arell
withar &

d) D NfRF T9E B FW AR
& arel ufshan 8 |

el IR gy

(1)
(2)
(3)
(4)

acd
a,d
a,b,c,d

a,b,c,
a,b
a,d
c,d

R e NS e
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Q.116

Q.117

Pain centres In human brain
differentiate petween two
stimulii on basis of:-

(1) differences in threshold
stimulii

(2) differences in amplitude of
nerve implulses generated by
two different stimulii

(3) differences in frequency of
nerve impulses generated by
two different stimulii

(4) there are different neuron in
brain to receive different
stimulii

Test cross is a cross between

(1) One homozygous and another
heterozygous individual.

(2) One individual with recessive
character and another with
dominant character of same
species

(3) Two individuals of same
species, each homogygous
for a character.

(4) Two homogygous individuals
fora character.

n.116

9.117

Wqﬁﬁmﬁﬁﬂﬂ‘ﬂmﬁ.
ﬁﬂngﬂvﬁﬁﬁﬂmw
TR B B

(1) Qi wei 1 YOI A
3 fiy=ran @ JMER

(2) < faftT S FART S
S M B TEeeys
(anmn)a%aqaﬂ-—maﬁé
PRI

3) 21 faft=r I FaRT ST
s arer-ee B B
BRI

@) faf= sgEm o @ fowm
M- afyer  a
AR Ed & |

resmfmdfarai

(1) T& GAGWE 9 I

fargrgre arofl & <

(2) & Wit § Recessive 3R

X H WY@ (Dominant) T
g, 3 3 & w9
w8

(3) 3w & T 3 fow

TG (@rHrengTE) 8 9
T & A e 8

4) @ﬁﬂﬂla‘:a‘rwm

w
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Q.118 Which of the following satement
Is true

(a) Viruses high mutability is
related to its nature of genetic
material

(b)

Bacteriophage evolved
before evolution of Bacteria.

(c)

Viruses infect only through

opening in the body of plants
and animals.

(d)

Viruses are obligatory
intracellular parasites.

(1)
(2)
(3)
(4)

a, b, c,
a&conly
ab,c,d

a,c,donly

Q.119 Arrange following in the
sequence.

(a) Mutation
(b) Reproductive isolation
(c) Natural Selection
(d) Evolution
(1) a,b,c,d
(2) d,c,b,a

(3) a,c,b,d
(4) c,b,a,d

5118 T @ 2 W B W &

(b)

dei & orgelt ¥ fwro] o
aufega gl @ g} & waw
H B |

fagmo] Faa FRET F =R
V&= grel qRond) & |

(1)
(2)
(3)
(4)

()

(d)

a,b,c,
a&conly
a,b,cd

a,c,donly

9.119 = 7 w9 ¥ g

(a) WY (SaRad)

(b) = yarft & worm =
PR 1A (TS 3rerTTa)

(c) TTRfe =

(d) fawra wa
(1) a,b,c,d
(2) d,c,b,a

(3) a,c,b,d
(4) c¢,b,a,d

aﬁ%ﬁém
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120 Match the following
e Coloumn-l Coloumn-l
(1) Colorcells  (a) Coelentrate

(2) Diploblast (b) Porifera
(3) Closed (c) Echinodermata

circulatory
(4) Water (e) Arthropoda

vascular system

(1)  1-a, 2-b, 3-c, 4-d
(2) 1-a,2-b,3-c,4-e
(3) 1-b,2-a,3-e4-C
(4) 1-a,2-b,3-8,4-C

Q.121 which of the following plant
disease can be controlled by
chemical control

(1) Viral disease

(2) Diseases caused by
nematodes

(3) Fungal disease
(4) All of these

Q.122 Assertion:- Photosynthesis in
minimum in green light
Reason:-

Chlorophylls are green in
colour.

Direction:-
(1) Both assertion and reason

are true and reason is correct
explanation of assertion,

(2) Both assertion and reason
are true but reason is not
correct explanation of
assertion.

(3) Assertion is true but reason is
False.

(4) Assertion is false but

. rea
Istrue el

7.120
Wd gran-ll

(1) @i BRI (@) A
(2) fyehare (o)
(3) et B (©)

N d) YfAferer
(4) AR (e) 31

qrAqR T

(1) 1-a,2-b,3-C, 4-d
(2) 1-a,2-b,3-c,4-e
(3) 1-b,2-a,3-e,4-C
(4) 1-a,2-b,3-e,4-C
121 frm § R @9 W@ 9Re AW
e ufa A FE B W
w87

(1) fawr] S+

W.122 Y- T BT H UHTY G
) & B B

PIROT:-
FARIS BT T &7 Brar &
fRmfidw:-

(1) o9 9 R S e 2
9 DR, AT B G
AR B |

(2) FYF 9 FRY SF} | B
W] RO FHUF B HE
AT 78 8 |

@) PuT & ) wyg FRO
T B |

(@) T Tom §| W IRV

N
44
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Q123 P O

RRYY

|

X 3

Step | lwrinklod

Round yellow

seed green

seed

stepil Y
Rryy

( ) (Round Yellow)
F1O X 3

F1
RrYy RrYy

/\

Gamets RY Ry

Round Round Wnn!ed Wrinkled

Yellow Green  Yellow Green

Which law is depicted by the
above cross?

(1) Law of Dominance

(2. Law of Segregation

(3) Law of Independent Assortment
(4) Allthe three

Q.124 Population size is controlled by
(1) Death rate
(2) Birth rate
(3) Demographic transition
(4) Carrying capacity of Environment
Q.125 Hydrophonics is-
(1) Growing of aquatic plants

Gamets RY

(2) Growing of floating aquatic plants
(3) Soil less cultivation of plants

(4) Growing of plants inside water

MBP () X {:3
RRYY rryy
step |
q& a’ﬂ?ﬂ'\'

e —=RY stepl Y
e 7 9 99

) x OF

RrYy RrYy

Aﬁi
TERLE

v v
PR

v
® ©® o

gD

e det T = Hggﬂ
gqﬂaaﬁmmaﬁﬂmﬁma!ﬂm
?
(1) wwrdt Feror &1 fas
(2) el e @ ufdi &
JACTT—37er B &1 g
(3) wa= gt &1 fam
(4) SR A fam
W.124 9= B A= | 9 91 oD
FPEIA PIATE ?
(1) G-}
(2) TR
(3) SHITS® (swifars) 9SaTd
(4) TIATAROT DI &HET
¥.125 SSQIBIad &
(1) Tl ¥ 9¢ 9= a9 @
CUIE
(2) 9T O TR ATl e} BT ST
(3) fedt MRa dEgi H ST H
El G

(4) 9T @ 3rex W} BT ST

?': h"‘“"-—-_—————__,_—,_——_—“_==
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Q.126 Of the following four numbers the
largests:

(1) 3?‘-0
@ 7
@ (7"
@ @

Q.127 The sum of 18 consecutive
natural numbers is a perfect
square. The smallest possible
value of this sumis

(1) 144
(2) 169

(3) 225

(4) 289
Q.128 The sum

1 2 3

1+1%+1* METUOvL METEER S

99

F W lies between _

(1) 0.46and0.47
(2) 0.47and0.48
(3) 0.48and0.49
(4) 0.49and0.50
Q.129 If x*-x-1=0,then the value of
x'=2x+1 is
(1) 0

2) 2

(3) l"Jg
4) 1-5
(4) -

97.126 ﬁqﬁma‘iﬁﬁmwmt

(1) 3"
(2) 7°
@) (n*”
4) (31"

9.427 18 WA WIqd |3 B A
v qoi o ¥1 T A B LT
a2
(1) 144
(2) 169
(3) 225
(4) 289

9.128 A

4 .2 .3
TRl 14242 14343

frasdade

29
" 1+99%+99°

(1) 0.46 30 0.47
(2) 0.4730R0.48
(3) 0.483fR0.49
(4) 0.493R0.50

¥.129 X x*-x-1=08, WX -2+ 17
H ®
(1) 0

(2) 2

3) L*lg
1-{5_

(4) —5

46

a

Scanned by CamScanner



@.130 If x and y are two positive real

Q.131

Q.132

numbers such that their sum Is
one, then the maximum valye of
x'y+xy'is

Ifx % ofy is equal to 1% of z, y%
of zis equal to 1% of x and z% of
x is equal to 1% of y, then the
valueofxy +yz +zxis

(1)
(2)
3)
@4) 4

The value of

2({2+{6) =
3m3__+J2+J§ +{2-y3

1S

WO -

3+4J6
3

4+3J6
3

(1)

(2)

3+46
4

4-36
3

(3)

(4)

H.130

9.131

¥.132

ARk x 3% y B T AR
vt @ R & 5 o7 A
v &, T Xy + xy' B BT

ik
(1)

(2)
3)
(4)

R y BT x % TEAX & 21 1%, Z
1 y% ATER B, x BT 1% 3R x BT
z% ATAR & y BT 1% T4 xy + yz +
ZX P19 &

(1 1
(2) 2
@ 3
4) 4

2({2+]6)
3J2_+J3=+J2+J3T +42-J3

AR
(1) 3+4J6
3

4+3J6
3

(2)

3+4J6

(3)
4

(4) 4-36
3

%_—_—“
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Q.133

Q.134

Q.135

The unit's digit of the product
3% x 7" x 13"

is

(1 1

(2)
(3)
(4)

The perimeters of a reqular
hexagon and a square are equal.
The ratio of the area of the
square to the area of the
hexagonis

(1) 3:{2
2) 2:3J3
3) 1:3
(4) 3:2J3

If a,, a, a,...

0 ~N W

is an arithmetic progression
with common difference 1

98
and L a=137,then
i=1

thevalueofa,+a,+a;+...+a,

(1)
(2)
(3)
(4)

67
83
93
98

9.133

u.134

0.135

Tﬁm 1001 3 71992 ¢ 131003-& m-g

1 3P &7

1) 1
2) 3
3) 7
4) 9

e wwweye AR B T B
ofATg 9 & | 7 @ &F%d 3R

eyl B aawe § I &

(1)
)

3:42
2:3J3
@ 1:43
4) 3:243
afe a, a, a,..

T FHER Aof @ v ardsir

98
18R ¥
i=1
g, Gda,+a,+a,+... +a,d dH

2

a, =137

(1) 67
(2)
(3)

(4)

83

W/
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Q.136 ABCDis arectangle with AD = 19

Q.137

Q.138

cm. Semicircles are drawn on
AD and BC If the shaded area is

100 cm’, then the shortest
distance (in cm) between the
semicircles is

A D
(1) 257 é é
) S5
(3) 25m+5

e

(4) 25m-25
In the figure, the area of square
ABCD is 4 cm®and E any point on
AB. F, G, H and K are the mid
point of DE, CF, DG, and CH
respectively. The are of AKDC is
cm’

(1) -+
4 A 5
@ —gom ’Hl!l
1 2
3 —Ccm »
® g6 NE=N

4) L em?
(4) 37 °M

KFP+/3Q +{5 R+{15 S

Q

1
T 14[3+]5

thenthe valueof Pis

-1

(1) =

1
O

(2)

Im:‘;

(3)

|-4:t

9.136

9.137

9.138

ABCD 7w 3 & fored AD =10
A & 3w AD T BC.‘IW

& o | af erafda &Aed
100 4R * & <t anfgal @ 41T A
mmqﬂ(ﬁﬁ)?? 5
(1) 2571 Y~
(2) 57 =

(3) 2.57m+5 c
(4) 25m-25

amgfa ¥, T ABCD &1 &35 4
¥4 * ¥ 3R E, AB R 1@ fig ®1
F, G, H 3R K s¥1: DE, CF, DG,
3R CH @ #uafdg &1 A KDC &1
A &

(1) 4@ e
@ 5 ¥
@) = .
@) o

gk p+i3 Q+/5R+{15S

1
S 1+345
TAPHF AR
(M) It
.2
@ =
@) =
7
4 1N
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. 9=2,0"<8<90°
Q139 Ifsec’d +tan@=2,0°<B<90", | §.139 I sec? +=tea:cot‘emwm%
then the value of cosec’d + cot’® g, @ cosec
is 1) 2
1) 2
(1) 2 3
(2 3
3) 4 (3) 4
4 5 (4) 5
Q.140 Iftherootsof px’+2qx+r=o0 | ¥.140 afe px’+2qx+r= =03
and qx* -2pr x + q = o are g -2 prx+q=0® T TP WY
simultaneously real, than arafa® &, @
(1) p=q,r#o (1) p=q,r #o0
(2) 2q=pr 2) 2g=4pr
3) pr=q° 3) Pr=q
(4)  2p=ar (4 2p=Jar
Q.41 Ifarightcircular cone, withslant | %141 IR Tw @@ g wig, frwa
height ¢ , and a right circular fefe warE ( 2 3R UF @9 T
cylinder have the same radius r, I A TwE B r, 3R wWE
same total surflace area and 7@ w_q - 3
:;:;ghts h and h respectively, 5  halR K &, 79
L= (e
N f‘l: r t+r =
ty e ' (1) hm
(2) 2h/h
' (2) 2 h/h
)z 3) hi2h
4) 2R/ S
(4) 2h/
Q.142 AABC has vertices A(-4,1), B (2,- _
1) and C (1,k). The number of 41142 :('4 gfﬂ(:g)ag" c(, *233“
possible values for k such that BC k@ |9
the triangle is isoscles is e for@ A ABC Ua wafaang
(1) 1 Pyw 8, A=
(2 3 (1) 1
@ 5 (2) 3
4) 4 3) 5
4) 4
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Q.143

In a class of boys and girls, an

: LA
student Is chosen at 9143 um me 4 kg
the probabllity :'h:t r:":::;"‘,': wford| ¥ | @79 4 0B ﬁﬂ"“_’g
chosen Is % of the probability Argryy YA A ¥yt g
that a girl Is'chosen, the ratio of g"'l wrA 91 i m lﬁ ﬂ'ﬁ
the number of boys to the tota WA ufdaar o % ¥, m
:ll.lmbll' of students is the class sy B wen T P ?
s :
e ) wrem @ a79@ 37
(1) 1:3
1) 1:3
(2) 2:5
(2) 2:5
(3) 3:5
(3) 35
4) 2:3
4) 2:3
Q.144 In the figure, DB is a di
rectangle ABcl; aan:g‘;;‘:;o: U.144 fa 4 sraa ABCD %1 DB 0%
through A and line m through C fazvi & A v @ e C A
divide DB in three equal parts #FY @ m, DB T #F I
each o;l Ierllgth 1 cm and are A | aredt & o | g am
perpendicular to DB Area (in %! waré 190 &) 3R DB R Fa
cm’) of rectangle ABCD is # %1 w99 ABCD 1 #35a
(hd)g?
(1) 242 (1) 242
@ 203 A ° 2) 203
3) 32 p < 3 32 o
. f m [} m
4) 33 4 33
Q145 iosneofthefactors of x'+10x’-27 | 9.145 x' +10x"-27 31 U& oEe &
(1) - x+3 (1) x-x+3
2) x-x-3 A S
3) X+ x-
(3) X+ x-3 ) +x’3
1 4) X'+ x+3
(4) X+ x+3 & ¥
L S e — ——— ]
51

Scanned by CamScanner



Q.146

Q.147

Q.148

Q.149

Q.150

_—
L e ———————

What was the theme of the
Printing of Frederic Sorrieu

(1) Democratic
(@)
(3)
(4)

Germany was unified in

Socialistic
Capitalistic

None of above

(1) 1870
(2) 187
(3) 1872
(4) 1873
Who said, "When France

sneezes the rest of the Europe
catches cold"

(1)  Garibaldi

(2) Mazzini

(3) Matternich

(4) Bismarck

Who was Paul Bernard?
(1)  Economist

(2) Social Worker

(3)  Social reformer

(4) Capitalist

Which the following was the

most important cash crop of
Vietnam:-

(1)
(2)
(3)
(4)

Sugarcane
Cotton
Rice

Tea

u.146

0.147

¥.148

9.149

9.150

52

wefw weg & An @
e @ - ™

(1) oI

(2) GHNTEE

(3) i

(4) T A BIg T

S o1 vaevor e e ad
3ol

(1) 1870

) 1871

(3) 1872

(4) 1873

18 I fhas &' 'V W @)

dgte o & @ gl R 5
ST B AR

(1) T 9

) #fe

(3) #fgf®

(4) fawma

Ufet aMre P A?
(1) i

(2) ARG BRidl

(3) EHIS GURS

(4) Gofofa

faam &t Tdt (dw) Fud
fFEddamade-

(1) =1

2) wHU

(3) dad

(4) =

——————

__.‘
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101 Why was non wooperation

Q102

Q.103

Q184

movement oalled off hy Gandnlji

(1) Due to chaur-chaura

violenoe

(#) Due lo prolesl a
British Emplre hine

() Due to opposition of Muslim
lL.eague

(4)  DualoBritish Pressure

The Jalllanwala Bagh incident
place on

(1) 13" Aprll 1010

(2) 13" Aprii 1912

(3)  13"April 1917

4) 13" April 1919

The Poona Pact was signed
between and

(1)  Jawahar Lal Nehru -

Mothllal Nehru

(2) Mahatma Gandhi - Lord
Irrwin

(3) Mahatma Gandhl - B, R,
Ambedkar

(4) Mahatma Gandhl - Mount
batten

Who sald. "Printing Is the
ultimate gift of God and the
greatestone”,

(1)  Charles Dickens
(2)  J.V.8chely

(3)  Mahatma Gandhl
(4)  Martin Luther

CALL

H.102

¥.163

n.1584

Mot A arensehn aipeelvor e
fiter amreor ) e s

(1) il eyl wenien] &
(2)
(39) ot i o (A b pIv

s\ iy iy o 1ADEA

sl wepy B AdA @
vy

onfordfaren v ot siew fare ad
# ;.

(1) 136M# 1910

(2) 135091612

(3) 13501917

(4) 139041919

g e v v o e a1
(1) OHATEY e Age A N A1
Arw

neredl M o ard gefm

nere R a 4, s,
GV

(4)  werear i 7 e dee

% v e, *guor oy o €
g werm A9 § wen v 0 A
e ?

(1) = Edeg

2) 9% &3

(3) wEre e

4) wfER g

(4)

(2)
(3)

| — e
63
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Q.155 Who amongst the following
ruled over Sardinia-Pied mont

during the middle of the
nineteenth century.

(1)  Austrian Habsburg
(2) Italian Princely house
(3) Pope

(4) Bourbonkings of spain

Q.156 Which of the following
Countries has briefest

constitution?
(1) USA

(2) China
(3) India

(4) Japan

Q.157 Who is known as Frontier
Gandhi?

(1) M.A.Jinha
(2)  Khan Abdul Gaffar Khan
(3) Shekh Abdulla

(4) Liakat Al

Q.158 Which of the following

statementis true aboutIndia?

(1) India is a Unitary System
(2) India has true federal
system

(3) India is union of states

(4) India is confederation

Q.159 Who is at present Dy. Chairman

of Planning Commission?
(1) P. Chidambaram

(2) Montek Singh Ahluwalia
(3)  Trilok Singh

(4)  Jai Pal Reddy

H.155 S=Iadl YAl B gOeTa §

H.156

9.157

9.158

9.159

# ¥ P TR - Feueie gy

oA B A:-

(1) oI geaari

(2) el B I

(3) dm

(4) T D RE T

frer 4 9 &9 <o &1 9Rum

HaH oY 87

(1) 3R

(2) =@+

(3) WRd

(4) <TUH

fre 3 | e T R 7y

AT 87

(1) T U o=

(2) WM IgA THR EGH

(3) W Iegeen

(4) foramea areht

49 9ra @ e a9 @

HYF T 77

(1) ¥R ¥ (HId qawen B |

(2) WRA ¥ eyt AUt
aRRqT B |

(3) WA I FT L B |

(4) ¥Rd U 7ENY g |

g # A= § ) Qo aEn

P IUTIY PIF 27

(1) 9. Rem

(2) #A=<F Rig @i

() B e

(4) SHOU YS!

%_————_——_G—__ﬁsﬁ
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foveer of o whw o vifdem L k]

Q160 Which of the followin
amendement |s kn v | Rie0
defection Law GWR a8 Anti. ot Wt (e oy argorren B7
(1 42::' (1) d2df
{g; :: (2) Ad
‘4) - (@) bad
Q.161 \(thl were the tw ) o foos
i . 4 -
backwardness und{:r b:ﬂ':\d:: A8 ST m e
Commission? e TV o7
(1) Soclal and Educational (1) xS a dailoren
(2)  Social and Economic (2)  wrifdren o it
(3)  Cultural and Religious (3) il o wiffa
:::1 Linguistic and Religious (4) sl @ enfi§en
Q.162 0 was known as G . '
Man of India? AL ha ;Tm“ II:’" T e e v
1
(1) Dada Bhal Nauroji (1) arer g A
(2) GK. Gokhle . e 4y
(3)  Feroj Shah Meh @) Em g i
4 5 Aabiene ehta (3)  fRYSr wg dgen
Q163 Which c;ft;mefollrgyl | S o
. owing is not tr e arforerel
aboutFundamentalRights? w163 :m 49 Wy
B W P Wl it &P
(1) These are absolute. (1) A sl ¥
(2) These are given In third ; !
part of constitution (2) 2 WRYF 2 e o fary
(3)  Atpresent they are six in ikl
number. (3) ¥ WY T e e R |
(4). They were taken from USA. (4) :;gfﬁﬂﬂ B WRuE § Ry
- I
Q164 Which of the followin
g s the | w164 w1 ¥ & wmftor ary
Smallest administrative unit In T @ A
rural area? W B Yo ¥
(1) Municipal Committee (1) .
(@)  Panchayat Samiti (2) Tars wfAfy
(3)  Village Panchayat (3) I v
(4)  Zila Parishad (4). e uRye
; 55
M
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Q165 MBﬂiﬂMRJJ-

(Ragit 1o
(1) it empowers pecpie.

2 lprmwm

(3) R promotes good
gowemance
4 Ehmwﬂff
Q166 Make the eight pairs.
A Acoid current (1) Benguela
B. Awarm current (ii) Mozamque
C. Acurentnot (i) Peruvian
flowing in Atlantic  current
ocean
D. Acurentthat (iv) Aguihas

flows along
south-east coast
of Africa
(1) A BAW) CA) DHiv)

2) B4 CAW) D) A{Wv)

@) Adii) BHi) CAw) D)

(4) Afv) BAi) CHii) D)
Q167 Contour fines represent -

(1) Areas recording same
amount of rainfall

(2) Areas having same degree
of temperature

(3) Areas having same height
above mean sea level

(4) Areas receiving same

amount of sunfight

9.165

9.166

Tﬁliaﬁaﬂ$miﬁq

i 4 o T8 ¥

) 7 afadl P qIE Bl
gl

(2) 72 GREfda B ASTA & |

(3) &GO P e

(4) qgma$ﬁﬁ%1

w& g™ TG

7@ ovdl a1 (i) e
;: & T 9N (ll)'-'l’ﬁi_[m
C. FeAed AEErR (iii) I ©RT

# = 92 arel g
D. e da@orgd (V) FTE

e & | 984 arell g

9.167

(1) AH) B-i) C-(ii) D-(iv)
() BHi) CHii) D-(ii) A-(iv)
(3) A(iii) B-(i) C-(iv) D-(i)
4) A<(iv) B-(i) C-(ii) D-(i)
e YEnd gufa € —

(1) af B FHE A TS B
qrel Al D |

@) amIE H wE & g
B dTel R B |

3) @ g da @ FAM
$ars R R w3 |

(4) I A A g e W
& dTel R B |

w
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168 Zozl-La (Pagg ¢
:,o places out of the f ) °""°;t' Which

Ollowing
(1) Leh-Shrinagar
(2) Jammu - Kargj|
(3) Nepal - Sikkim
(4) Bhutan - Arunachg, Prades
Q.169 Make right paj.e

rivers and their placeg of °"I:1|:n 1:olll::w.winﬂ
A Sallu ! Brahmgi

B Jhelum 2 Amarkantak

C Kaveri 3 Rakshastg)

D Narmada 4 Verinag

(1) A-3,B-4,C-1,p.p

(2) A-3,B-1,C-2,D4

(3) A-2,B4,C-1,p.3

(4) A-3,B-2,C-1,D4
Q170 Choose the right answer.

A Cottonopolice of Indig - Mumbai

B Silicon valley of Indig - Bangalore
C  Manchesterof North India - Kanpur
D

Detroit of India - Modi Nagar
(1) Allthe options are right
(2) OnlyBandD are right
(3) OnlyAandBare right

(4) OnlyA,BandCare right

Q171 As per census of India 2011
which one of the following four states
has highest density of population?

(1) Himachal Pradesh
(2) Jammu & Kashmir
(3)  Manipur

(4) Nagaland

9168 frfafea & ¥ wiftran
R 2 vuri ) s 7

Aq® — SR

(1) A-3,B-4,C-1,D-2
(2) A-3,B-1,Cc-2,D4
(3) A-2,B4,C-1,D-3
(4) A-3,B-2,C-1, D4
9.170 '\‘Tﬁwimmﬁ|

o O w

(1) o ey ad ¥
(2) PIABTDEA &
(3) DTt ATBTE ¥

(4) FTAABICHD E|

A71 WRd N SOET 2019
fFreafafm =) o= § @

T U watfle 7
(1) fewrae wew
(2) W3R FER
(3) #RIR
(4) TS

# ITER
& oy =

e e ——
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Q.172 Select right statement regarding
biodiversity.

A. Biodiversity is maximum In
forests.

B. hmfﬂstoonlyﬁonofaparﬁcular
area.

C. I is related to various species of
fiora and fauna of a particulararea

D. It represents the total number of
individuals of particular species
living in an area.

(1) Aand B both are right.
(2) Band C both are right.
(3) Cand D both are right.
(4) Aand C both are right.
Q.173 The main cause of existence of

rain-shadow area on leeward side of
Western Ghatof Indiais -

(1) Scattered vegetation

(2) Increasing temperature

(3) Increasing humidity

4) increasing aimospheric pressure
Q.174 Which force is responsible for
deflecting winds towards the right
direction in the northern hemisphere?

(1) Gravitational force

(2) Centrifugal force

(3) Coriolis force

(4) Centripetal force
Q.175 Which one is not afact regarding
climate of South India?
(1) Diumal range of temperature is less.
(2) Heterogeneous climatic conditions

are found
(3) Annual range of temperature is less

(4) Temperatures are high throughout
the year.

9472 o fftew @ TN 8 T F
g g
o e Pafaen 7 ¥ i & &

B. ugﬁﬂﬁﬁ'iﬁmﬁmm
7 sfa B B
C. ugﬁrmaaﬁma'?mmaqﬁ
mema @t faf= gonfaal |
gafaa gl
D. = B &= § o o T T
ﬁ:\qmﬁﬁaﬁaﬁiaﬁ@ﬁm
#) g@ich 2|
(1) AGBTRI O € |
2) B3 CIMI d@ & |
3) caDeF &P £ |
(4) ATCEFI AT T
¥.173 e 3 o g 3 TEAegE
A & gfie BT WY Y& P TGE IR
(3
(1) W g
(2) deal AmHE
(3) deh ATzl
(4) Fedl AGASAIT T |
9174 B A T I Mg A @ B
T RmAAs e &?
(1) oD ac
(2) B g
(3) diRanferd
(4) AMB=IT T
9475 <R ARG A ooy B AR A
FF W TP T T T 87
(1) ue e R B9 Tl & |
(2) mﬁﬁwqﬁﬁ@ﬁzﬁqﬁaﬁ%t
(3) T& aiffe QR &9 Y& & |

(4) T GRI 9§ 9 YEd & |

-ﬁ
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Q.176 Human development ingex
compares countries based on which of
the following level of people?

Per capitaincome

Education level

Health status

Gender ratio

(1) ab.c

(2) becd

(3) acd

(4) Allofthe above

Q.177 Gross Domestic Product (GDP)

is the total value of :

1) Allintermediate goods and services

(2) Allgoodsand services

(3) Allfinalgoods and services

(4) All intermediate and final goods and
services

Q.178 Which of the following was the

objective of NREGA 2005

(1) to control the unorganised sector in
rural India.

(2) to provide 100 days employment in a
year by the government.

(3) to control the flow of money from
private sector to public sector.

(4) to increase production in primary

sector.
Q.179 Formal sources of loans include

loans from (a) Banks (b) Money lenders
(c) Co-operatives socities (d) Traders
(1) aand b

(2 aandc

3) bandc

) aandd

. Q180 Which one of the following has
. benefitted least because of

- Globalisation in India

‘ Industrial Sector

5 Service Sector

( 4% Secondary Sector

1 Agriculture Sector

Qo oo

w176 fr=fefra smuri ¥ A fw R
W W Rew gEse A B g
Al 87
a. ufd=fd g
b. e &1 ®R
C. TAReY P WK
d. for ergum
(1) a,b,c
(2) becd
(3) acd
(4) IRIF GH
U177 Wohel W] SAE HA Y4 € ¢
(1) 99 wegad awgali @ §amsf &1
(2) | awgaii @ Hare B
(3) Wt aifvw awgail T Hanali @
4) o megadi g sfwm axgell @en
GEIS T
w178 f=fofra § ¥ =W (NREGA)
2005 &1 I T AT?
(1) MV vRa # 3Ifed &3 &
faf=a & & forg
(2) WRBR ERT SRISFIRI B Th a8 §
100 f&51 F1 AR 29 B forw
(3) fAoh &= & W= & @ ek 3
@ yare o1 fFafsa s @ faw
(4) 9rfAe &3 ¥ IR ge @ farg
¥.179 ®Ui @ 3gmRe wid §
wfAferd & - (a) & (b) FEER (c) weBrd
wfafat (d) =mm
(1) as3iRb
(2) a3diRc
(3) baRc
4) adiRd
W.180 WA ¥ ITAPRU BT A WIQ BH
& &= 3 fAen?
(1) 3enfis &=
(2) warad
3) fadiras &=

() PR
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